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I) Choose the correct answer (write it in the table above):
1) cos(Z) = Cca('ﬁ.—*rT> = — CoS (_—W)

(d) — 3
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(a) 5 (b) —5 (c)

o se Smt<o
2) Ifcost = % and t in the third quadrant then sint is equal to te T So
Sint = —\1—ce0o?t’

(c) —% (d) 5
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() -1 (b) - (©) !
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—__Differontial calculus
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7) If f(z) = v1 —2? then f is continuous on the interval ~ twe domain 'e,t 2 )o} L_ -4, fl

Co Ok doesw b il

=0 T

D§ -_;% ~€®R/
(a) (=00, —1] (b) (=1,1) } @H_Lu \ —an+m)
e J3 =
8) If f(z) = V1 + 22 then f’(\/ﬁ): /\IT/-":-; = = -3 ot

f(n) = Q"r'x—?’)"h‘ $o ‘QIC’X) = _;1 (4+’f) AN =
‘Iﬁ' OF~ ‘ OF

9) If f is a differentiable funct1on and f(1) =1, f/(1) = 6, and g(z) = zf(z) then
ﬁm+$(
9’ () = -)]i(r-) +7L§(1)

{ (a) 1 (b) 2 (c) 6 \\ @ \

10) The slope of the ‘rangent line to the graph f(z) = 3z* — 4 at the point P(1,-1)
L m = :f[&) . Fw=6x s M=6

N V1

1+22

(2)

N
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Math 218

1)

Differential calculus p“ﬁf_'} _21,_‘?

B

A) 1) Solve the equation 2 cos?6 — 7cosf + 3 = 0.
Pur u = cen &

Lt becomes L ur-Ffu+4+3=0 ; a=2; b=—¥fcz;3dac
. rermmminank D = - 2
@ ‘ u, = -5 _1 D fsememt :49_24:25:6
. 4 T 4
‘ U = -‘-F'f"s_____ 2 é

i) If z, = 26’%_ and z, = Sei?, find 2,z and 2

3= (2 (56) w0
® B adh g o (BE)

;(:(_g_)

ol
Ol

B) i) Find the rectangular coordinates for the point has polar coordinates (1,%5).

3
@ X = Vv = C,e’?(’.é;(——r):—@z_
., Y=Yrsine& = S/ (Q%) - \ﬁ/L

ii) Find the polar coordinates for the point has rectangular coordinates (—2, 2v/3).
£ s2=-2 5 Y= 2V3

4

@ 7%)(»'\ ¢ r-= Vx"‘+5’—’: m=ﬁ5=4

. 2V3 -
Cen & ._.._'X/r = —?/4 '::"“/2_ 5 Sinf= Y = :é'- 2
So € = 2T/3
iii) Write the corrfplex number z = 1 — i in polar form and find (1 — i)®.

3
. -1 7¢
. 5-_-4_-\- :ﬁe' /4 .‘,}_1?\>/¢:3

{ 4
A 4 \ _tﬂ/4 4 5 4
. 38 = @_L) = (9-/7’ e ) -2 £ =2 =|é>

C) Show that there is a root of the equation 73 — 222+ — 1 =0 between 1 and 2.
:‘_f’h) _ x3oaen-t v a rpe_noml.a.’ 7C.¢J\;M
TF s cmh'mug;.d m T bownded thosed /'nfavd[:l,{j
@ - AS ;ﬁ(ﬁ_)_—_--ﬂ.. an .:ﬁ(i)_:d. , Then ‘f(d') ¥(2)<O

35 M(an fl/qe'l/ue %Cof‘(m 7%(/‘( Lo xoe(t,.z) /&ucL S(%):

= — -
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Diltorentinl calenlun B S /‘_})’11:5(:,4..(_){&

D) Dilferentinte the following functions:
i) f(z) = 3z - 5x? + /Z.

/

® A () = 15T —dox + B
aNx
i) g(z) = ze™3",
e —3)( | =3
Aay = € 4% (B) e = UTTOC

i) ho) = 58

tren s g o) —A=250

"
@Hml)’* &4/"(‘ ‘\V\")(.)

iv) k(z) = [In(1+z%)]"*

’ﬁ{I(M 3 L(M-x) .:l'L—’LM (H—;@)
NS B
= 4 (Wor?) s T ot (‘“)

_ 5° at the point P(0,1).

F) Find an equation of tangent line for the curve y =
- 4y=5" o, x =0, j«E(m =10)-4
:fbt) (v 3) 5 ":g(o) = 5

The equuatim of fangant dine P (ror B2e)
T qﬁ”iﬂ% 4 (x) (*=20)

-
" ' End of exam
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